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BACHELOR'S DEGREE PROGRAM 

Term-End Examination 

December, 2013 

ECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

me : 3 hours 	 Maximum Marks : 100 

)te : Answer all the sections as per the directions given in 

each section. 

SECTION-A 

Answer any two questions from this section in 
about 500 words each : 	 2x20=40 

In the context of structural change and 
development what are the two variants of 
structure considered ? Explain the three stages of 
structural transformation put forth by Simon 
Kuznets. 

What are the three ways in which the distribution 
pattern of investment can be studied ? What has 
been the trend in 'net capital inflow as percentage 
of NDP' over the period 1981-2001 in India ? 

Explain the linkage between 'economic reforms' 
and 'economic outcome'. 

Discuss the achievements and weaknesses of the 
education sector in India. 
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SECTION - B 

Answer any four questions from this section in 
about 250 words each : 	 12x4=4E 

5. Discuss the major recommendations of the 
Narasimham committee (1991) on Banking and 
Financial Sector. 

6. Explain the concept of 'energy problem'. Outline 
the major efforts made in India on the 'non-pricing 
measures' in this regard. 

7. What specific measures are suggested by the 
centre to the state governments while advancing 
financial assistance under 'medium term fiscal 
reform' ? 

8. Explain how 'regional inequalities' accentuated 
as a result of Green Revolution's in Indian 
agriculture. 

9. What are the basic characteristics of Service 
Sector ? What sub-sectoral distinctions have been 
suggested by UN for the service sector ? 

10. Explain the dispute settlement mechanism of 
WTO. 

SECTION-C 

Answer any two questions in about 100 words 
each : 	 6x2=12 

11. For what specific reasons M.K. Gandhi was 
against mechanisation ? 
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12. Write a note on the principal issues relating to 
water. 

13. Distinguish between Revenue Deficit and Fiscal 
Deficit. 

14. What does Total Factor Productivity refer to ? 
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